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2. SCOPE

This standard does NOT deal with the following: (Reasons are given in brackets)

other 
than bearer plants ( ). This Standard applies to bearer plants but it does not 
apply to the produce on bearer plants

( )
) to that 

Note:  the activities covered in (b) to (d) above, and these are 
separable from the activities, are to be accounted for as per this Standard.

property. 

Bearer plant is a plant that:

 (c) has a remote likelihood of being sold as an
The following picture helps you to understand

 

Tangible 
items 

Held for use in 

Producing goods  

Providing services  

Expected to be used during more 
than a period 

PPEare 

Rental to others 

For administration purpose 

& 
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Note:
 to recognise the asset as per the framework. Once it is recognised as an asset, 

Concept capsule 1

cultivate and sell agricultural and urban lands, buys large plots of virgin lands, develops and cultivates 
them and 

Suggested answer
 (intention of usage) producing goods, providing 

 of 
the asset rather than the nature of the entity.

 sale in the ordinary course of business and, etc. 
In the given case, the entity is purchasing the land to develop and sell it in the ordinary course of business. 
The land does not

accounting treatment of the company is NOT correct.

Carrying amount:  Gross book value Less Less 

 

Initial  
Recognition & Measurement 

Subsequent Recognition & 
measurement 

Recognition & Measurement 

It is the time when the entity incurred 
the costs. 

Measurement of PPE as on Balance 
sheet date 

conditions: (same as )

 2. Cost should be measured reliably.

5. INITIAL RECOGNITION

Costs are incurred:
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following ways:

 

Payment of Cash/ 
for credit 

Self construction Exchange of  
Non monetary assets 

Initial acquisition/construction 

Asset is acquired by  

Particulars Amount (
XXX

 Non-refundable XXX
Initial delivery and handling costs XXX
Site preparation cost (e.g., special foundation costs) XXX
Installation costs ( ) XXX

XXX
XXX

(See concept capsule 7)
 the net proceeds 

received on sale of items produced during test runs XXX
 Any operate for its 
intended purpose XXX

XXX
Changes in duties and similar items XXX

XXX
Trade discounts and rebates (if included in above items) (XXX)
Cost of PPE to be capitalised XXXX

General
not  

at less 

Costs of relocating or reorganising part or all of an entity’s operations.

Note: 
 1. 
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 2. net proceeds from 
 1,000 for trail run and realised 

Concept capsule 2   
1 lakh, professional fees paid is 2 lakh. 

General overheads incurred during the installation period are 

it spent 2 lakh for trail run, material and labour. The products manufactured during the trail run are sold 
for 
Suggested answers

Particulars 

Freight cost 1
2

Site preparation cost (to remove old machine and to prepare site)
  recovery from sale of products 

manufactured during trail run (
Amount to be capitalised

Note: 
not directly related 

Try Practice Questions 1, 2, 3 & 4  in Volume II of Ind AS Made easy

6. DEFERRED CREDIT PERIOD

. 

less than a year. 
In case, if the payment is deferred beyond normal credit period terms, the  between the cash 
price and the total payment should be recognised as interest. 

Concept capsule 3

loan.
Suggested answer

as interest. 
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The Cash price of Car = 10 lakh × PVF for 2 years @ 10%) = 

Date Debit  Credit  

10 lakh

To Cash/bank a/c

10,00,000

10,00,000

I hope the above capsule helped you to understand the concept. 

 

B. SELF-CONSTRUCTED PPE: 

The following costs should be capitalised when the assets are constructed by the entity.

Particulars Amount (
sub-topic A XXX

XXX
XXX
XXX

Cost of self-constructed PPE XXXX
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Note: 
 (a) The entity should NOT include internal  on any items used from its stores (one cannot sell to own). 

Only cost of the items should be capitalised.
not be part of self-constructed asset. 

Try Practice Question 5 in Volume II of Ind AS Made easy

self-constructed PPE before they are in the location and 
condition necessary to be capable of operating in the manner intended by management. 

the bearer plants before they are in the location and condition necessary to be capable of operating in the 
manner intended by management.

C. PPE IS ACQUIRED BY EXCHANGE OF ASSETS

at 
Determination of cost of assets to be recorded is based on the following TWO conditions:

Recognise at  
 Fair value of the asset given up;(1st preference)   

OR 
 Fair value of the asset received; 

Whichever is clearly evident; 

It should be measured at COST. 
i.e. Carrying amount of asset given up is the 
Cost of asset received.  

1. Does the transaction have commercial substance (explained below)? and 
2. Can fair value of the asset given or taken is measured reliably? 

No Yes 

What is commercial substance? (Read carefully)

 (a) of the asset received are from the cash 
or

 (b) 

 (c) 

need not perform a detailed calculation for this purpose. 

Concept capsule 4

6,000 for new machine having a total cash price of 

Suggested answer

or the net book value of the asset given up, 

selling price of old machine and book value is recognised as loss i.e., 
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Concept capsule 5 (No commercial substance

has a fair value of 
Suggested answer

transaction has commercial substance and fair value can be measured reliably. If the transaction does not 
have commercial substance, it should be measured at the carrying amount of the asset given up. 

assets received at the book value of car X. Therefore, it recognises cash of 

and
actual commencement of commercial production should be  statement irrespective 
of the amount involved. 

 it should 

Try Practice Questions 6, 7  in Volume II of Ind AS Made easy

. 

separately over its individual useful life. 

the books of account, i.e.,
is capitalised, if the cost is recoverable (asset). 

Concept capsule 6

of 20 crore. 
Suggested answer

recognised and depreciated separately over its individual useful life.

recognised separately and depreciated over its useful life. 


